
Lecture- Interacting gasses& liquids , ptl

Canonical Ensemble : N, V, T
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Remember : A helm hole free energy
minimized @ eq .

A- = E - TS
,
T > 0

Competition btwn louring ERS

At low T & high P , we expect
liquids & solids

what is the "structure " of

liquids , gasses (& solids/



Think about a crystal
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Liquid long range attraction

short range repulsion
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between molecules
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For a liquid :
Isotropic ← p=%

Moi

Translationally invariant
p=Mv
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Connect to partition function :
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b/c Isotropic , can't depend on É
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